





The moon ‘
isn’t large
enough to
have enough
gravity to
hold an
atmosphere.




The planets all
Which sized plamn
more atmosphere

hel
Large, because ¢
gravity.




Neptune




atmosphere:

‘q,

Nitrogen (78%) and Oxygen

(21%). All other gases (1%4)
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1. Troposphm E
The first layer. All or'the

weather takes place here.

| 720 km = 12.4
Mount Everest miles
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2. Stratosphéerer

The second layer. r.
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Ozone layer =

“SUNSCREEN™
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There is a ho
layer.

chemical in refr
called CFC.
(Chlorofiurocarbon)



3. Mesospherée =

protects ou e artih ;
up most meteors that com

towards us.
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85 km = 52.8
miles







Really large meieors
get through however:
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690 km

4. Thermog hera -

The fourth Iay
The Internaﬂ DNE
Space Statton
orbits here. Also
auroras can be
found in this layer.

' Space Station

' Aurora
100 km

(Karman
line)

Thermosphere

690 km =
428.7 miles
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Auroras from the lnt%ﬁl

Space Station.



9. Exosphere=

The fifth layer
top layer and it

al It
outer space:
10,000 km
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How a gré,enEouse
WOrkKs:

The sun heats u
the greenhous

Most of the h&€at






Greenhouse effect

Some heat
escapes o space

Must
heatis
contained
in the

atmosphere




When gasses ii

= ARRl e~ -

atmosphere trap the heat 1
keep us warmer.



The GreenhoUse
allows life on eaj
survive!
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Average moon Wﬂh
temperature is 4°F. emperature is 59°F.



Common gr
gasses -

methane a

TR =0 _ L

Carbon dioxide,

water vapor.



changing fo "

made.




Evaporation, volcanoes and
livestock farts.




uman causes
asses and

urning fossil fu
eforestation.







If we don’t
about climate ¢
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1. Higher tempeéeratures.

Global Temperature and Carbon Dioxide
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2. Melting or th;L pol% ice
caps.




Coastline if present

ice sheetsmelt. ) Coastline 18,000
Mermphis » \ \.ﬁf 3/ years ago 7
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4.

Schematic illustrating how sea level and storm surge act in concert
under normal conditions (A) and with sea level rise and intensified storms (B).
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. Changes in ré aimirall

4]

patterns affectmg Crops-.




6. Extinction oﬂ ani:@ls wiho
cannot adjust to change of
climate.







animals need mtrogen
grow, but we cannot u
nitrogen gas, as it is f oY
in the atmosphere. J}

need something #6 make it
usable to us.
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Nitrogen fi

When unusable nitrogen is

TYRRES BRT

made usable for plants anc
animals.



Two main forims of
nitrogen -

Nitrates (NO:) and nitrites
(NO:).

Nitrates are
often used to
make fertilizer.




nitrogen mak

| WA

for plants that help the'
grow.

Nitrogen fixing
bacteria on plant
roots.






Nitrogen can alsoWbe fixed

/ A
when light. ning strikes the
ground.




the fixed n:trdgénand
return :t back tp_the ai



1. There is unusable nitrogen in the air.

Nitrogen Cycle




2. Lightning fixes some nitrogen as it hits the ground.

Nitrogen Cycle




3. Bacteria in the soil fix nitrogen.

Nitrogen Cycle




4. Plants pick up fixed nitrogen with their roots and use it to grow.

Nitrogen Cycle




5. Animals eat plants and get the fixed nitrogen. They use it to grow.

Nitrogen Cycle




6. Bacteria break down dead plants and animals and return some of
nitrogen back to the air.

Nitrogen Cycle




